/ fluz

/ flux

Silicon runs all HYCAL

0.94
00000

66666

000000000000000

66666

00000

0.85
00000

66666

64éOO 64850 64éOO
Si runs T counter: 2

66666

00000



Silicon runs all HYCAL

4
00000

66666

00000

66666
Si runs T counter: 3

00000

66666

00000

!
+ F}ﬁ%{. ¢4

0.
00000

66666

00000

66666
Si runs T counter: 4

00000

66666

00000



Silicon runs all HYCAL

IR Y X

1 +

o +

0.82700 s s Si runs 16'4;8:5(;)unter: 5 w0 s o
N . # + ; # }E }} }ii {} i{' ﬁ
YA # , g (UL

0:85 ' ' eiso 64900 64950 65000

Si runs T counter: 6



pton/flux

pton/ f l’LL.CE

Silicon runs all HYCAL

} + {1
} LI HWMH byl

T TR ﬁﬁﬁ byt +

0'82700 64I750 64800} 64EI350 64&)00 64950 65000
} | .

1
| I

o1 } e ARTARRIRE

|

.........
00000000000000000000000000000000000



Silicon runs all HYCAL

+ }{.i ¢ {'h ¢
¢
¢ ¢ Jr%% f

1

64%50 64éOO 64é50 64§OO 64§SO 65000
Siruns T counter: 9

B
}

by
L i
:

}
} ;
My Hi i hiﬁii 'y

! :
}}

64%50 64éOO 64éSO 64§OO 64§SO 65000
Siruns T counter: 10



Silicon runs all HYCAL

1.05¢ # i i ii
R i ﬁ
g ¢ ;
Eiﬁ%ﬁ hﬁ # i i #{fif }*} foo
0.90} +
' }
0'82700 64|750 64;300 SI Uns TGLCl:éS(ijnter: 11 64§OO 64§SO 65000
1.05¢ {
| i p i L
1.00¢ H& % + } f+ H’ + ‘H‘+ { + ﬂ
0.95} } H
0.90 ' ! } | ! !

Si runs T counter: 12



64750

64800

64é50
Siruns T counter: 13

64900

64950

65000

64750

64800

64éSO
Si runs T counter: 14

64900

64950

65000



Silicon runs all HYCAL

K
| A Y
| S
oy } SRS PR b
0.95} l } }
0'82700 64I750 64;300 SI Uns T64(1:il3c5)(l)Jnter: 15 64éOO 64éSO 65000
0
¢ 4t
} { 4 ;e
RS . %ﬁ J] ’ & 0 *; e :
wf M1 i + ’
0.90} + }

Si runs T counter: 16



Silicon runs all HYCAL

64750

64800 64850 64900

Si runs T counter: 17

64950

65000

64750

64éOO 64éSO 64§OO
Siruns T counter: 18

64950

65000



